Chll )

BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,

RIBHM R COETELTRBELEHEEL,
EMIFE/NGEBRERELLGZAVICIHE B—E

EHEA: 2021E2818((8)

2021%1H27H

HRASHEES—TILO—

£520-42-02B&

%D; o . GEDCT G
20175 (HaEs =
B/EAR— w7 HimE
181 JR-S-20005 gzie:ifi(/?gl;sécaﬂéiirév;;hsBreakthrough Detector, for VICI 94,400 25,600
181 JR-S-20002 Safety Exhaust Filter, for VICI Caps or VICI Safety Caps 17,100 18,000
181 JR-S-11011 VICI-Safety-Cap GL45, 2 ports, with valves 17,600 18,500
181 JR-S-11012 VICI-Safety—Cap GL45, 3 ports, with valves 22,000 23,100
181 JR-S-11013 VICI-Safety-Cap GL45, 4 ports, with valves 26,000 27,300
181 JR-S-11111 VICI-Safety—Cap GLA45, 2 ports, Kit 1 L 30,300 31,800
181 JR-S-11112 VICI-Safety-Cap GL45 ,3 ports, Kit 1 L 39,200 41,100
181 JR-S-11113 VICI-Safety—-Cap GL45, 4 ports, Kit 1 L 48,000 50,300
181 JR-S-11211 VICI-Safety-Cap GL45, 2 ports, Kit 2 L 35,700 37,500
181 JR-S-11212 VICI-Safety—-Cap GL45, 3 ports, Kit 2 L 44,600 46,800
181 JR-S-11213 VICI-Safety-Cap GL45, 4 ports, Kit 2 L 53,500 56,100
184 JR-9000-0005 Bottle, Glass, safety—coated 1 L with solid cap 8,800 9,300
184 JR-9000-0010 Bottle, Glass, safety—coated 2 L with solid cap 12,800 13,500
188 JR-55010 Color-1t, blue, fingertight adapter, 10/pkg 1,500 1,600
188 JR-55011 Color-It, yellow, fingertight adapter, 10/pkg 1,500 1,600
188 JR-55012 Color-lIt, green, fingertight adapter, 10/pkg 1,500 1,600
188 JR-55013 Color-It, black, fingertight adapter, 10/pkg 1,500 1,600
188 JR-55014 Color-It, white, fingertight adapter, 10/pkg 1,500 1,600
188 JR-55015 Color-It, red, fingertight adapter, 10/pkg 1,500 1,600
188 JR-55016-12 S:J;:Z::%ezr;if:; adapter multi—color, assorted 2 pcs. 1.900 2100
188 [JR-5525N-10 E‘_tﬂ;‘,ggopoEoE,fsi'f T&;//p?’ki,’ oneplece hexhead short, natural 19.600[ 20,600
188 JR-55080-10 Adapter, natural, PP, fingertight sleeve, 10/pkg 1,200 1,300
188 JR-55081-10 Adapter, white, PP, fingertight sleeve, 10/pkg 1,200 1,300

1/16



Chll )

BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,

KIBBHMICOSELTEBELNEDLELEL,

2021%1H27H

HRASHEES—TILO—

£520-42-02B&

GLOAS S NS (BidR)
yalcinty) P/N E-2
20178 (WRES o =
BEA~R— BT g
188 JR-55082-10 Adapter, dark grey, PP, fingertight sleeve, 10/pkg 1,200 1,300
188 JR-55084-10 Adapter, lavender, PP, fingertight sleeve, 10/pkg 1,200 1,300
188 JR-55088-10 Adapter, brown, PP, fingertight sleeve, 10/pkg 1,200 1,300
188 JR-55091-10 Adapter, purple, PP, fingertight sleeve, 10/pkg 1,200 1,300
188 JR-5508X—24 Adapter, PP, fingertight sleeve, assorted 2 pcs. per color, 2,900 3.100
24/pkg
189 JR=5504-5 Fitting, PEEK, one—piece fingertight short head, 10-32, 6,900 7.300
5/pkg
_ _ Fitting, PEEK, 1/16”0D tubing, one—piece fingertight hex—
189 JR-5508-5 head, 10-32, 5/pk 6,900 7,300
190 JR-1030 'Il'eelz, PEEK, HP, 0.25 mm bore, complete with one piece 11.100 11,700
fittings
190 JR-1040 Qrgss, PEEK, HP, 0.25 mm bore, complete with one piece 13,000 13.700
fittings
190 JR-1061 Union, PEEK, 0.25 mm bore, complete 4,000 4,200
190 JR-2030 Tee, PEEK, HP 0.25 mm bore, body only 11,500 12,100
190 JR-2040 Cross, PEEK, HP, 0.25 mm bore, body only 13,400 14,100
190 JR-061 Union, PEEK, 0.25 mm bore, body only 1,300 1,400
190 JR-9000-0670 Tee, PEEK, mixing, complete, with 10um Titanium frit 15,900 16,700
190 JR-5505 Adapter, PEEK, M6 female to 10-32 male 2,000 2,100
191 JR-5580-5 Nut, PEEK, finger—tight, 10-32, 5/pkg 4,700 5,000
191 JR-6030 Tee, PEEK, LP bore 0.8 mm, complete 10,700 11,300
191 JR-6031 Tee, PEEK, LP bore 1.5 mm, complete 10,700 11,300
191 JR-6040 Cross, PEEK, LP bore 0.8 mm, complete 12,500 13,100
191 JR-6041 Cross, PEEK, LP bore 1.5 mm, complete 12,500 13,100
192 JR-050WH-10 Nut, Polyacetal, flangeless 1/8", 1/4'-28, white, 10/pkg 1,800 1,900
192 JR-050BK-10 Nut, Polyacetal, flangeless 1/8", 1/4"-28, black, 10/pkg 1,800 1,900
192 JR-050BL-10 Nut, Polyacetal, flangeless 1/8", 1/4"-28, blue, 10/pkg 1,800 1,900
192 JR-050GR-10 Nut, Polyacetal, flangeless 1/8", 1/4"-28, green, 10/pkg 1,800 1,900
192 JR-050YL-10 Nut, Polyacetal, flangeless 1/8", 1/4"-28, yellow, 10/pkg 1,800 1,900

2/16



Chll #8) 2021€1A27H

BuREHINT2017T5BEERE. RRNWGESZEBELTEYET, KA BEE—IILO—
FEBHHRICOEFFELTEBBELEHELEL, $20-42-02B=
GLC#& - ..
jjgnb‘ P/N o %%IJ\JL1E*§(*R*&)
20175 (BRES) Bms
BEA~R— BT Frim
192 JR-050RE-10 Nut, Polyacetal, flangeless 1/8", 1/4"-28, red, 10/pkg 1,800 1,900

Nut, Polyacetal, flangeless 1/8”, 1/4"-28, 1" long, white,

192 JR-050WL-10 10/pke 2,800 3,000
192 JR-040WH-10 Nut, Polyacetal, flangeless 1/16”, 1/4"-28, white, 10/pkg 1,800 1,900
192 JR-040BK-10 Nut, Polyacetal, flangeless 1/16", 1/4"-28, black, 10/pkg 1,800 1,900
192 JR-040BL-10 Nut, Polyacetal, flangeless 1/16”, 1/4"-28, blue, 10/pkg 1,800 1,900
192 JR-040GR-10 Nut, Polyacetal, flangeless 1/16”, 1/4"-28, green, 10/pkg 1,800 1,900
192 JR-040YL-10 Nut, Polyacetal, flangeless 1/16"”, 1/4"-28, yellow, 10/pkg 1,800 1,900
192 JR-040RE-10 Nut, Polyacetal, flangeless 1/16", 1/4"-28, red, 10/pkg 1,800 1,900

Nut, Polyacetal, flangeless 1/16”, 1/4”-28, 1”long, white,

192 JR-040WL-10 16,000 16,800

10/pkg
193 JR-4676-2 Filter, SS, Economy mobile phase 2 um, body diam. 19 mm 2,600 2,800
193 JR-4676-10 Filter, SS, Economy mobile phase 10 um, body diam. 19 mm 2,600 2,800

Filter, PTFE, Economy mobile phase 2.5 um, body diam. 19

193 JR-4676-2.5TF 2,500 2,700
mm

193 JR-4676-5TF :,l;er’ PTFE, Economy mobile phase, 5 um, body diam. 19 2,500 2,700

193 JR-4677-2 Filter, SS, Economy mobile phase 2 um, body diam. 22 mm 3,200 3,400

193 JR-4677-10 Filter, SS, Economy mobil phase 10 um, body diam. 22 mm 3,200 3,400

193 JR-4677-2 5TF rl::lr‘rc]er, PTFE, Economy mobile phase, 2.5 um, body diam. 22 3.100 3.300

193 JR-4677-5TF rI:F:II";er, PTFE, Economy mobile phase, 5 um, body diam. 22 3100 3,300

193 JR-4677-10TF rl::lr‘rc]er, PTFE, Economy mobile phase, 10 um, body diam. 22 3.100 3.300

193 JR-9000-0520F Filter, PTFE, Last Drop 2.5 um, flangeless connector 3,900 4100

193 JR=-9000-0520 Filter, PTFE, Last Drop 2.5 um, tripod stepped tubing 3.900 4,100
connector

193 JR-9000-0521F Filter, PTFE, Last Drop 5 um, flangeless connector 3,900 4,100

193 JR=-9000-0521 Filter, PTFE, Last Drop 5 um, tripod stepped tubing 3.900 4,100
connector

193 JR-9000-0522F Filter, PTFE, Last Drop 10 um, flangeless connector 3,900 4100

193 JR=9000-0522 Filter, PTFE, Last Drop 10 um, tripod stepped tubing 3.900 4100
connector

193 JR-9000-0522HF Filter, PE, Last Drop 10 um, hydrophobic, flangeless 3,900 4100

connector

3/16



Chll )

BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,

KIBBHMICOSELTEBELNEDLELEL,

2021%1H27H

HRASHEES—TILO—

£520-42-02B&

GLC#A®

N tgl \E- 1v3
Hans P/N 6oz 2/ (Fiik)
20178 (RBES) o =

BEA~R— BT g
193 JR-9000-0522H Flltf-:r, PE, Last Drop 10 um, hydrophobic, tripod stepped 3,900 4100
tubing connector
193 JR-9000-0530F Filter, SS, Last Drop 2 um, flangeless connector 4,300 4,600
193 JR-9000-0530 Filter, SS, Last Drop 2 um, tripod stepped tubing connector 4,300 4,600
193 JR-9000-0531F Filter, SS, Last Drop 2 um, flangeless connector 4,300 4,600
193 JR-9000-0531 Filter, SS, Last Drop 5 um, tripod stepped tubing connector 4,300 4,600
193 JR-9000-0532F Filter, SS, Last Drop 10 um, fitting connector 4,300 4,600
193 JR-9000-0532 Filter, SS, Last Drop 10 um, tripod stepped tubing 4,300 4,600
connector
_ . Filter, Glass, Last Drop 1-1.6 um,boro 3.3 filter, incl.
194 JR-9000-0520B connector JR-9000-0525GC 11,600 12,200
_ . Filter, Glass, Last Drop, 16 um glass frit, incl. connector
194 JR-9000-0526G JR-9000-0525GC 11,600 12,200
_ . Filter, Glass, Last Drop, 100 um glass ftit, incl. connector
194 JR-9000-0528G JR-9000-0525GC 11,600 12,200
_ _ Connector, PTFE, for 1/8” tubing, Connector for JR-9000-
194 JR-9000-0525GC 0520B. .0526G... 1,400 1,500
194 JR-68230-05 Filter, SS, In-Line ID 0.25 mm, complete, frit SS 0.5 um 14,300 15,300
194 JR-68230-2 Filter, SS, In—Line ID 0.25 mm, complete, frit SS 2 um 14,300 15,300
194 JR-68230-5 Filter, SS, In—Line ID 0.25 mm, complete, frit SS 5 um 14,300 15,300
194 JR-1110-05P-5 Frit, SS, PEEK enc., 0.115” diam. x 0.028" thickn., 0.5 um, 7.100 7.500
5/pkg
194 JR=1110-2P-5 Frit, SS, PEEK enc., 0.115” diam. x 0.028" thickn., 2 um, 7,500 7.900
5/pkg
194 JR-1110-5P-5 Frit, SS, PEEK encased, 0.115” diam. x 0.028" thickn., 5 7.100 7.500
um, 5/pkg
194 JR=1111-05P-5 Frit, SS, PEEK enc., 0.115" diam. x 0.028" thickn., 0.5 um, 7100 7,500
5/pkg
194 JR=1111-2P-5 Frit, SS, PEEK enc., 0.115” diam. x 0.028" thickn., 2 um, 7.100 7.500
5/pkg
194 JR=1111-5P=5 Frit, SS, PEEK enc., 0.115” diam. x 0.028" thickn., 5 um, 7.100 7,500
5/pkg
195 JR-C360NFPK Nut, 360um, No Twist, PEEK, with PEEK ferrule 3,200 3,400
195 JR-C360PPK Plug, 360um, PEEK 2,600 2,800
195 JR-C360ET Make up extender tool, for 360um nuts 3,000 3,200
195 JR-C360UPK4 Union, .360um, 100um bore, for PEEK and FS tubing (for < 11.900 12,500
10 kpsi)
195 JR-C360UPK6 l1J(r)1||c(>:é§60um, 150um bore, for PEEK and FS tubing (for < 10,900 11,500

4/ 16




Chll )

BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,

KIBBHMICOSELTEBELNEDLELEL,

2021%1H27H

HRASHEES—TILO—

£520-42-02B&

GLOAS S NS (BidR)
yalcinty) P/N E-2
20178 (RBES) o =
BEA~R— BT g
195 JR-C360RU1PK6 Re(.iucmg union 1./16 to 360um, 150um bore, for PEEK+FS 7.900 8,300
tubing (for<10kpsi)
195 JR-C360QTPK4 Tee: 360um, quick mount, 100um bore, for PEEK and FS 20,500 21,500
Tubing (for < 10 kpsi)
195 JR-C360QTPK6 Tee: 360um, quick m.ount, 150um bore, for PEEK and FS 18.900 19.800
Tubing (for < 10 kpsi)
195 JR-C360NFFS Nut, 360um, No Twist, for FS tubing (for> 10 kpsi) 11,700 12,300
195 JR-C360CFS Cap, 360um, SS, for FS tubing > 10’000 psi 7,900 8,300
195 JR-C360UFS4 Union, 360um, 100um bore, for FS tubing (for > 10 kpsi) 19,800 20,800
195 JR-C360RU.5FS2 Reducing union 1/32” to 360um, 50um bore, for FS tubing 17.900 18.800
(for > 10 kpsi)
195 JR-C360RU.5FS4 Reducing union 1/32" to 360um, 100um bore, for FS tubing 16.800 17.700
(for > 10 kpsi)
195 JR-C360RU.5FS6 Reducing union 1/32” to 360um, 150um bore, for FS tubing 15.800 16,600
(for > 10 kpsi)
195 JR-C360RU1FS6 Reducing union 1/16” to 360um, 150um bore, for FS tubing 14.900 15.700
(for > 10 kpsi)
195 JR-C360NFS6 Nut, 360um, No Twist, SS, with 316 ferrule 4,000 4,200
195 JR-C360C Cap, 360um, SS 5,100 5,400
195 JR-C360RU.5562 Requcmg union 1/32. to 360um, 50um bore, for metal 11.900 12,500
tubing (up to 20 kpsi)
195 JR-C360RU.5S64 Requcmg union 1/3? to 360um, 100um bore, for metal 10,900 11,500
tubing (up to 20 kpsi)
195 JR-C360RU.5566 Requcmg union 1/32. to 360um, 150um bore, for metal 9,900 10,400
tubing (up to 20 kpsi)
195 JR-C360RU1S66 Requcmg union 1/1§ to 360um, 150um bore, for metal 8.900 9,400
tubing (up to 20 kpsi)
196 JR-ZN.5-5 Nut, SS, 1/32”, Valco type, 6-40, 5/pkg 3,800 4,000
196 JR-ZN1-5 Nut, SS, 1/16”, Valco type, 10-32, 5/pkg 2,200 2,400
196 JR-MZN1-5 Nut, SS, 1/16” Medium, Valco type, 10-32, 5/pkg 3,200 3,300
196 JR-LZN1-5 Nut, SS, 1/16” Long, Valco type, 10-32, 5/pkg 3,500 3,700
196 JR-ZN2-5 Nut, SS, 1/8”, Valco type, 5/16"-24, 5/pkg 2,800 3,000
196 JR-ZF .5S6-5 Ferrule, 316SS, 1/32"”, Valco type, 5/pkg 4,800 5,100
196 JR-ZF1S6-5 Ferrule, 316SS, 1/16", Valco type, 5/pkg 3,800 4,000
196 JR-56-5 Nut, SS, 1/16” short, Rheodyne, 10-32, 5/pkg 4,200 4,600
196 JR-57-5 Nut, SS, 1/16” long head, Rheodyne, 10-32, 5/pkg 4,200 4,600

5/16



Chll )

BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,
KIBBHMICOSELTEBELNEDLELEL,

2021%1H27H

HRASHEES—TILO—

£520-42-02B&

GLC#A®

73’5!l:|2‘ ,, PN ek 2/ STl (Bitk)
s | (REE BT | HEE
196 JR-58-5 Nut, SS, 1/16” x—long, Rheodyne, 10-32, 5/pkg 5,200 5,500
196 JR-59-5 Ferrule, SS, 1/16”, 5/pkg 2,700 2,900
196 JR-60-5 Ferrule, SS, 1/16”, 2—step Rheodyne, 5/pkg 3,500 3,800
196 JR-ZU1MS6 Union, SS, bore 0.50mm, 1/16”, 10-32, complete 6,200 6,500
196 JR-ZT1C Tee, SS, 0.25 mm bore, 1/16”, 10-32, complete 7,900 8,500
196 JR-ZT1M Tee, SS, 0.5 mm bore, 1/16”, 10-32, complete 7,000 7,500
196 JR-ZT1 Tee, SS, 0.75 mm bore, 1/16”, 10-32, complete 5,700 6,200
196 JR-ZX1C Cross, SS, 0.25mm bore, 1/16”, 10-32, complete 11,400 12,300
196 JR-ZX1M Cross, SS, 0.50mm bore, 1/16”, 10-32, complete 9,900 10,600
196 JR-ZX1 Cross, SS, 0.75 mm bore, 1/16”, 10-32, complete 8,700 9,400
197 JR-792 Tool, Tubing Cutter for metal tubing 12,100 13,000
197 JR-793 Tool, replacement cutter wheel for JR-792 2,200 3,000
197 JR-796 Tool, Tubing Plier for metal tubing 4,400 4,700
197 JR-797 Tool, Clean—Cut Tubing Cutter 3,100 3,300
197 JR-798 Tool, replacement blade for JR-797 500 600
197 JR-800 Tool, ValvTool 1/4” and 5/16" open wrench 5,400 5,700
331 614160 Mininert valve, 15mm—425, 12/pkg, 24,000 26,000
331 614161 Mininert valve, 18mm—400, 12/pkg, 26,000 28,000
331 614170 Mininert valve, 20mm—400, 12/pkg, 27,000 30,000
331 614163 Mininert valve, 24mm—400, 12/pkg, 29,000 32,000
331 614250 Mininert valve, crimp—top, 12/pkg, for 13 mm ID glassware 32,000 36,000
331 654050 Mininert syringe valve, for C or D syringe 5,800 6,800
331 654051 Mininert syringe valve, for luer—tip 6,200 7,300
363 010033 Gas syringe A, 1 ml, RN, .029”x.012"x2.25”, bevel open end 22,000 31,000
363 010034 Gas syringe A, 2 ml, RN, .029”x.012"x2.25", bevel open end 17,400 25,000

6/16




Chll )

BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,

KIBBHMICOSELTEBELNEDLELEL,

2021%1H27H

HRASHEES—TILO—

£520-42-02B&

GLOAS S L NFATS (BiR)
Hhiray P/N oz
20175 (WRE =
BEA~R— BT Frim
363 913050 Needles RN p—lok A, .029"x.012"x2.25", bevel open end, 6,600 7.800
3/pkg
363 913052 Needles RN p—lok A, .029"x.012"x2.25" ,side port taper, 9,200 11.000
3/pkg
363 050023 Gas syringe A-2, 25 ul, RN, .029”x.005"x2", bevel open end 20,000 24,000
363 050043—LL Gas syringe A—2, 25 ul,, RN, .028 x.005 x2", bevel open 20,000 24,000
end, luer lock
363 050024 Gas syringe A-2, 50 ul, RN, .029”x.005"x2", bevel open end 20,000 24,000
363 050044—L L Gas syringe A-2, 50 ul,, RN, .028 x.005 x2", bevel open 20,000 24,000
end, luer lock
363 050025 S:(;; syringe A—2, 100 ul, RN, .029"x.005 x2", bevel open 21,000 25,000
363 050045-L L Gas syringe A—2, 100 ul,, RN, .028 x.005"x2", bevel open 21,000 95,000
end, luer lock
363 050031 S:(;; syringe A—2, 250 ul, RN, .029"x.012"x2", bevel open 21,000 25,000
363 050051=LL Gas syringe A—2, 250 ul, RN, .029"x.012"x2", bevel open 21,000 95,000
end, luer lock
363 050032 S:(;; syringe A—2, 500 ul, RN, .029"x.012"x2", bevel open 21,000 25,000
363 050052—L L Gas syringe A—2, 500 ul, RN, .029"x.012"x2", bevel open 21,000 95,000
end, luer lock
363 050033 Gas syringe A-2, 1 ml, RN, .029”x.012”x2", bevel open end 21,000 25,000
363 050053—L L Gas syringe A—2, 1 ml, RN, .029"x.012"x2", bevel open end, 21,000 95,000
luer lock
363 050034 Gas syringe A-2, 2 ml, RN, .029”x.012”x2", bevel open end 21,000 25,000
363 050054—L L Gas syringe A-2, 2 ml, RN, .029"x.012"x2", bevel open end, 21,000 95,000
luer lock
363 050035 Gas syringe A-2, 5 ml, RN, .029”x.012”x2", bevel open end 22,000 27,000
363 050055-L L Gas syringe A-2, 5 ml, RN, .029"x.012"x2", bevel open end, 92,000 26,000
luer lock
363 050036 S:(;; syringe A—2, 10 ml, RN, .029"x.012"x2", bevel open 92,000 27,000
363 050056-LL Gas syringe A-2, 10 ml, RN, .029"x.012"x2", bevel open 92,000 26,000
end, luer lock
363 943050 Needles RN p—lok A-2, C, .028"x.005 x2", bevel open end, 6,600 7100
3/pkg
363 943060 Needles RN luer A-2, C, Magnum, .028"x.006 x2", bevel 6.600 7.100
open end, 3/pkg
363,364 |943051 Needles RN p—-lok A-2, C, D, .029"'x.012"x2", bevel open 6,600 7.700
end, 3/pkg
363,364 |943061 Needles RN luer A-2, D, .028"x.012"x2", bevel open end, 6,600 7100
3/pkg
363,364 [943052 Needles RN p—-lok A-2, C, D, .029"'x.012 x2", side—port 9,300 11,000
taper, 3/pkg

7/16



Chll #8) 2021€1A27H

BuREHINT2017T5BEERE. RRNWGESZEBELTEYET, KA BEE—IILO—
FEBHHRICOEFFELTEBBELEHELEL, 520-42-02B5
GLOAS S L NFATS (BiR)
Hhiray P/N oz
20178 (HRES) AH -
BEA~R— BT g
363,364 [943062 Needles RN luer A—2, C, D, Magnum, .028 x.012"x2", side 9,300 11,000
port taper, 3/pkg
364 040034 Gas syringe D, 2 ml, RN, .029”x.012”x2”, bevel open end 13,000 16,000
364 060037 Gas syringe Magnum, 20 ml, RN, .035 x.023" x2", bevel 102,000 119,000
open end
364 060039 Gas syringe Magnum, 50 ml, RN, .035 x.023"x2", bevel 103.000 122,000
open end
364 060040 Gas syringe Magnum, 100 ml, RN, .035 x.023"x2 ", bevel 118,000 140,000
open end
364 060041 Gas syringe Magnum, 250 ml, RN, .035"x.023"x2", bevel 171.000 203,000
open end
364 060042 Gas syringe Magnum, 500 ml, RN, .035"x.023"x2", bevel 186,000 925000
open end
364 060044 Gas syringe Magnum, 50 ml, RN, .035 x.023" x2", bevel 105.000 124.000
open end, Luer
364 060046 Gas syringe Magnum, 250 ml, RN, .035"x.023"x2", bevel 172,000 206,000
open end, Luer
364 060047 Gas syringe Magnum, 500 ml, RN, .035"x.023"x2", bevel 177.000 216,000
open end, Luer
364 953050 Needles RN, Magnum, .035"x.023"x2”, bevel open end, 6,600 7.100
3/pkg
364 953061 Needles RN, luer Magnum, .035"x.023"x2", bevel open end, 7100 7,700
3/pkg
364 953052 Needles RN, Magnum, .035"x.023 x2", side port taper, 9,300 11,000
3/pkg
364 953062 Needles RN, luer Magnum, .035"x.023"x2", side port taper, 9,300 11.000
3/pkg
364 100017 Plunger tip gas A, A-2, C, 100 ul 2,600 3,100
364 100029 Plunger tip gas A, A-2, C, 250 ul 2,600 3,100
364 013933 Plunger tip gas A, A-2, C, D, 1 ml 3,800 4,500
364 013934 Plunger tip gas A, A-2, C, D, 2 ml 3,800 4,500
364 013935 Plunger tip gas A, A-2, C, 5 ml 4,500 4,800
364 013936 Plunger tip gas A, A-2, C, 10 ml 4,500 4,800
364 100010 Front packing A, 100 ul 4,500 5,300
364 100028 Front packing A, 250 ul 4,500 4,800
364 100042 Front packing A, 500 ul 4,500 5,300
364 100057 Front packing A, 1 ml 4,200 4,900
364 100070 Front packing A, 2 ml 4,200 4,900

8/16



Chll )

BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,

KIBBHMICOSELTEBELNEDLELEL,

2021%1H27H

HRASHEES—TILO—

£520-42-02B&

GLO#E & L NFATS (BiR)
hansg P/N oz
20175 (WRE =
BEA~R— BT Frim
364 100086 Front packing A, 5 ml 4,200 4,900
364 100100 Front packing A, 10 ml 5,900 6,900
365 220005 High pressure syringe,pressure—Flo 0.5ul, integral calibrated 56,000 66,000
needle
365 220011 High pressure syringe, pressure—Flo 1 ul, integral calibrated 56,000 66,000
needle
365 220012 High pressure syringe, pressure—Flo 2 ul, integral calibrated 56,000 66,000
needle
365 220021 High pressure syringe, pressure—Flo 5 ul, integral calibrated 56,000 66,000
needle
365 220022 ngh pressure syringe, pressure—Flo 10ul, integral 56,000 66,000
calibrated needle
365 240040 Bonj,b adapter for high pressure syringes, fitting (NPT), 93,000 97,000
1/8" female
365 240041 Bonj’b adapter for high pressure syringes, fitting (NPT), 23000 27,000
1/4” female
365 240042 Bonj,b adapter for high pressure syringes, fitting (NPT), 93,000 97,000
1/8" male
365 240043 Bonj’b adapter for high pressure syringes, fitting (NPT), 23000 27,000
1/4” male
365 230051 High pressure syringe,micro—Flo 0.5-5 ul, annular 86,000 101,000
needle,side port,tapered,openend
365 9230250 Cylllrjde.r adapter and Yoke assembly, for micro—flo syringe, 86,000 101,000
1/4” pipe thread female
10 port 2—pos valve, manual/4” so, 1/16%.4mm,
591 ACTOWE 225C/400psi gas, N60/E 119.000 183,000
597 ACAWE 4 port 2—pos valve, manual/4”so, 1/16%.4mm, 225C/400psi 103,000 107,000
gas, N60/E
597 ACEWE 6 port 2-pos valve, manual/4"so, 1/16%.4mm, 225C/400psi 113.000 117,000
gas, N60/E
597 ACSWE 8 port 2—pos valve, manual/4 so, 1/16*.4mm, 225C/400psi 119.000 183.000
gas, N60/E
10 port 2—pos valve, manual/4”so, 1/32%.25mm,
991 ANTOWE 225C/400psi gas, N60/E 129.000 211,000
4 port 2—pos valve, manual/4”so, 1/32%.25mm,
997 [ANAWE 225C/400psi gas, N60/E 149.000f  186.000
6 port 2—pos valve, manual/4”so, 1/32%.25mm,
991 4N6WE 225C/400psi gas, N60/E 129.000 199.000
8 port 2—pos valve, manual/4”so, 1/32%.25mm,
291 [4NBWE 225C/400psi gas, N6O/E 139,000} 211.000
10 port 2—pos valve, air actuated/4”so, 1/16%.4mm,
991 A4CTOWE 225C/400psi gas, N60/E 162.000 231.000
4 port 2—-pos valve, air actuated/4”so, 1/16%.4mm,
597 A4CAWE 225C,/400psi gas, N60/E 155,000 160,000
6 port 2—pos valve, air actuated/4”so, 1/16%.4mm,
597 A4C6WE 925G,/ 400psi gas, N60/E 152,000 156,000
8 port 2—-pos valve, air actuated/4”so, 1/16%.4mm,
597 A4C8WE 225C,/400psi gas, N60/E 176,000 181,000

9/16



(BIHR)
BMUREHIOJ 201758 HARE, KRWEEREBELTRYET,
RIBEFH B OEFFELTEBRBNLEDHELLEL,

202118278
HrASHEEZS—TILL—
§520-42-02B&

GLO#E & F LN (Bidk)
HheO49 P/N oz
20175 (WRES =
BER— BT Frim
10 port 2—pos valve, air actuated/4”so, 1/32%.25mm,
5971 |A4NIOWE 295C/400psi gas, N60/E 182,000f  259.000
4 port 2—pos valve, air actuated/4”so, 1/32%.25mm,
297 A4NAWE 225C/400psi gas, N60/E 162,000 235,000
6 port 2—pos valve, air actuated/4”so, 1/32%.25mm,
597 A4ANBWE 225C,/400psi gas, N60/E 185,000 190,000
8 port 2—-pos valve, air actuated/4”so, 1/32%.25mm,
597 A4NSWE 925C,/400psi gas, N60/E 195,000 200,000
597 C10WE 10 port, 2—pos valve, manual, 1/16%.4mm, 225C/400psi gas, 124,000 129,000
N60/E
597 CAWE 4 port 2—pos valve, manual, 1/16%.4mm, 225C/400psi gas, 104,000 109,000
N60/E
597 CHWE 6 port 2-pos valve, manual, 1/16%.4mm, 225C/400psi gas, 114,000 119,000
N60/E
597 CSWE 8 port 2—pos valve, manual, 1/16%.4mm, 225C/400psi gas, 124,000 129,000
N60/E
10 port 2—pos valve, replacement, 1/32*.25mm,
997 |DNTOWE 225C/400psi gas, N6O/E 136.000)  177.000
4 port 2—pos valve, replacement, 1/32*.25mm,
297 DNAWE 225C/400psi gas, N60/E 116,000 153,000
6 port 2—pos valve, replacement, 1/32%.25mm,
297 (DN6WE 225C/400psi gas, N60/E 126.000f  165.000
8 port 2-pos valve, replacement, 1/32%.25mm,
297 DNSWE 225C/400psi gas, N60/E 136,000 177.000
597 SL25NW Sample loop 25ul, W type valve, 1/32" ends with nuts & 5.000 6.300
E— ferrules, 316SS
597 SL500NW Sample loop 500ul, W type valve, 1/32" ends with nuts & 7.500 9.200
—_ ferrules, 316SS
Rotor seal 10 port 2—pos W-valve, 1/16%.4mm,
597 SSAC10WE 225C,/400psi gas, E 15,000 15,200
597 SSACAWE gR::OE seal 4 port 2-pos W-valve, 1/16%.4mm, 225C/400psi 15.000 15.200
597 SSACEWE gR:StoE seal 6 port 2-pos W-valve, 1/16%.4mm, 225C/400psi 15,000 15,200
597 SSACSWE gR::OE seal 8 port 2-pos W-valve, 1/16%.4mm, 225C/400psi 15.000 15.200
Rotor seal 10 port 2—pos W-valve, 1/32%.25mm,
597 SSAN10WE 225C/400psi gas, E 15,000 15,200
Rotor seal 4 port 2-pos W-valve, 1/32*.25mm,
597 SSAN4WE 925G/400psi gas. E 15,000 19,100
Rotor seal 6 port 2—pos W-valve, 1/32%.25mm,
597 SSAN6WE 950G/400psi sas. E 15,000 19,100
Rotor seal 8 port 2-pos W-valve, 1/32*.25mm,
597 SSANSWE 925G/400psi gas. E 15,000 19,100
10 port 2—pos valve, manual/4”so, 1/8%.75mm,
598 410UWE 225C,/400psi gas, N60/E 123,000 127,000
598 44UWE 4 port 2—pos valve, manual/4”so, 1/8%.75mm, 225C/400psi 103.000 107,000
gas, N60/E
598 A6UWE 6 port 2-pos valve, manual/4”so, 1/8%.75mm, 225C/400psi 103,000 107,000
gas, N60/E

10/ 16




Chll )
BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,
REHEBRBOTELTEBHELEDLELLL,

202118278
HrASHEEZS—TILL—
§520-42-02B&

GLOAS S L NFATS (BiR)
bk isly) P/N oL
20175 (WRE =
BER— BT Frim

598 48UWE 8 port 2—pos valve, manual/4”so, 1/8%.75mm, 225C/400psi 109,000 113,000
gas, N60/E
10 port 2—pos valve, manual/4”so, 1/16%.75mm,

598 4C10UWE 225C,/400psi gas, N60/E 123,000 127,000
4 port 2—pos valve, manual/4”so, 1/16%.75mm

298 [4C4UWE 225C/400psi gas. N60/E 129.000 158,000
6 port 2—pos valve, manual/4”so, 1/16%.75mm,

598 4C6UWE 225C,/400psi gas, N60/E 113,000 117,000
8 port 2—pos valve, manual/4”so, 1/16%.75mm,

598 4C8UWE 225G,/400psi gas, N60/E 123,000 127,000

598 AUWE 4 port 2—pos valve, manual, 1/8%.75mm, 225C/400psi gas, 94,000 97.900
N60/E

598 GUWE 6 port 2-pos valve, manual, 1/8%.75mm, 225C/400psi gas, 104,000 108,000
N60/E

598 SUWE 8 port 2—pos valve, manual, 1/8%.75mm, 225C/400psi gas, 114.000 118,000
N60/E
10 port 2—pos valve, air actuated/4”so, 1/8%.75mm,

598 A410UWE 225G,/400psi gas, N60/E 165,000 170,000
4 port 2—-pos valve, air actuated/4”so, 1/8%.75mm,

598 A44UWE 225C,/400psi gas, N60/E 145,000 150,000
6 port 2—pos valve, air actuated/4”so, 1/8%.75mm,

598 A46UWE 225G,/400psi gas, N60/E 155,000 160,000
8 port 2—pos valve, air actuated/4”so, 1/8%.75mm,

598 A48UWE 225C,/400psi gas, N60/E 226,000 232,000
10 port 2—pos valve, air actuated/4”so, 1/16%.75mm,

598 A4C10UWE 225G,/400psi gas, N60/E 165,000 170,000
4 port 2—pos valve, air actuated/4”so, 1/16%.75mm,

598 A4C4UWE 225C,/400psi gas, N60/E 132,000 136,000
6 port 2—pos valve, air actuated/4”so, 1/16%.75mm,

598 A4C6UWE 225G,/400psi gas, N60/E 142,000 146,000
8 port 2—pos valve, air actuated/4”so, 1/16%.75mm,

598 A4C8UWE 225C,/400psi gas, N60/E 152,000 156,000

598 C10UWE 10 port 2—pos valve, manual, 1/16%.75mm, 225C/400psi 114,000 118,000
gas, N60/E

598 CAUWE 4 port 2—pos valve, manual, 1/16*.75mm, 225C/400psi gas, 94.000 142.000

E— N60/E

598 CBUWE 6 port 2-pos valve, manual, 1/16%.75mm, 225C/400psi gas, 104,000 108,000
N60/E

598 GSUWE 8 port 2—pos valve, manual, 1/16%.75mm, 225C/400psi gas, 114.000 118,000
N60/E

598 DSUWE 8 port 2—pos valve, replacement, 1/8%.75mm, 225C/400psi 106,000 149,000
gas, N60/E
Rotor seal 10 port 2-pos UW-valve, 1/8*.75mm,

298 SSA10UWE 995C,/400psi gas, E 15,000 19,100
Rotor seal 4 port 2-pos UW-valve, 1/8%.75mm,

598 SSA4UWE 225G,/400psi gas, E 15,000 15,200
Rotor seal 6 port 2-pos UW-valve, 1/8%.75mm,

598 SSA6UWE 225C,/400psi gas, E 15,000 15,200
Rotor seal 8 port 2—pos UW-valve, 1/8%.75mm,

298 SSASUWE 995C/400psi gas, E 15,000 19,100

11/16




(BIHR)
BMUREHIOJ 201758 HARE, KRWEEREBELTRYET,
RIBEFH B OEFFELTEBRBNLEDHELLEL,

20214FE1H278
KBSt BEES—TILY—
¥$20-42-02B5

GLO#E & F LN (Bidk)

ns07 e IR

20175 (WRES =

BER— BT Frim %

508 [SSACIOUWE ?;’;gr/jggg?g‘;‘;ff'p°s UW-valve, 1/16%.75mm, 15000 15,200
508  |SSACAUWE ?;;gr/jgg'p‘;pg‘;z ZE_"’°S UW-valve, 1/16%.75mm, 15000 15,200
508 |SSACGUWE ?;’;gr/jgggipg‘;:’ 27pos U -valve, 1/16%.75mm, 15000 15,200
508  |SSACSUWE ESEEDZEELZF’;S ZE_"’°S UW-valve, 1/16%.75mm, 15000 15,200
600 A2CSC10MWE ;goné;;;%gssr?r::: ’?ltét)lthpath, MW,air act/2 so, 1/16%1mm, 917.200 314,000
600 A2GSC12MWE ;gonéc;c;%ggsr?r;:: ﬁté’g?’lczpath, MW,air act/2" so, 1/16*%1mm, 931.900 333,000
600 A2CSC16MWE ;goné;;;%gssr?r::: ’?ltét)lthpath, MW,air act/2 so, 1/16%1mm, 931.900 333.000
600  |A2CSD10MWE ;goné‘;if)g:;dg_::d,\l%%% MW, air act/2"so, 1/16+.75mm, 233,000| 241,000
600  |A2CSD12MWE ;goné’}j%gs:idg_:;dhl%%tj‘é MW, air act/2”so, 1/16%.75mm, 248000 256,000
600  |A2CSD16MWE ;goné‘;if)g:;dg_::d,\l%%% MW, air act/2"so, 1/16+.75mm, 248000 256,000
600  |A2CSD6MWE go'gg‘;jgg;:i'ge:s ,ﬁ’laﬁt(;‘/'EMW' air act/2"so, 1/16%.75mm, 217,000 225000
600 A2SC10MWE ;gorréc}c;%ggsr?r;:: ﬁté’g?’lczpath, MW, air act/2”so, 1/8*%1mm, 917.200 314.000
600 A2SC12MWE ;goné;;;%gssr?r::: ’?ltét)lthpath, MW, air act/2 so, 1/8%1mm, 931.900 333.000
600 A2SC16MWE ;gorréc}c;%ggsr?r;:: ﬁté’g?’lczpath, MW, air act/2”so, 1/8%1mm, 931.900 333,000
600 |A2SDiOMWE Joge s sead-enc bath, Ml air act/2 so. 1/Bxlmm, 211600 307,000
600 A2SD12MWE ;goné?;%g:;d;::dN%%?é MW, air act/2”so, 1/8%1mm, 926,400 326,000
600 [A2SDIGMWE 15 Moos dead-end path, MW, air act/2-so. 1/8+1mm, 226400 326,000
600  |A2SDEMWE gonag‘zggs:i_::s El%t(;‘/'EMW' air act/2"so, 1/8+1mm, 196,000 288,000
o0 [oosoums |10mescommn et o ML oo
w0 |oosoumms [ Iome ommen ot cnh M o
o0 [oosoumms |18 meocommon st ot ML oo
600 DCSC6MWE gonagc;szgg;)r;?q;ns’o;’gg’jgath, MW, replacement, 1/16*%1mm, 126,000 164.000
600 DCSD10MWE ;goné;;(:‘%g;:idg:srjd’\l%%t/hé MW, replacement, 1/16%.75mm, 136.000 176.000
600 DCSD16MWE ;gonér;zzg:;d;::d,\l%%?é MW, replacement, 1/16%.75mm, 151.000 195.000
600  [DSciomwE ;80”5‘}‘;%8532:: ,‘\’l‘ét)'thpath' MW, replacement, 1/8%1mm. | 45 509| 183,000

12/ 16




Chll )

BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,

RIBEFH B OEFFELTEBRBNLEDHELLEL,

2021%1H27H

KBSt BEES—TILY—

£520-42-02B&

GLC# S 72/ (Bt
ns07 e IR
20175 (HRES) -

/ER—o w17 eIk
600  |DSCIZMWE ponbos common gutie’path. MWL replacement, I/8#lmn. | 156000/ 202,000
600 DSC16MWE ;gonér;zzgssr?r;:: ﬁté’g?’lczpath, MW, replacement, 1/8*%1mm, 156,000 202,000
600 DSC6MWE gorgg?szggggn:ansf);zg’jgath, MW, replacement, 1/8%1mm, 126.000 164.000
600 DSD10MWE ;goné;:;z%g:;dg::d,\l%%?é MW, replacement, 1/8%1mm, 136.000 176.000
600 DSD12MWE ;goné;;;%g;:id;:;d’\l%%t/hé MW, replacement, 1/8%1mm, 151.000 195.000
600 DSD16MWE ;gonép;zzg:;dg::d,\l%%?é MW, replacement, 1/8%1mm, 151.000 195.000
T re
600 SSACSC1OMWE ZRS;%;ZEELL?;:’OE common outlet MW valve, 1/16%1mm, 21,000 29.800
600 SSACSC12MWE ZRgSgr/;ggl 1SI2 220; common outlet MW valve, 1/16*%1mm 91,000 99.800
600 SSACSC16MWE zRg(’;Cér/ZE?)Ipl?grzgoE common outlet MW valve, 1/16%1mm, 93,000 29.800
600 SSACSCEMWE ZRgSgr/;ggl S(? n;r;osl;zcommon outlet MW valve, 1/16%1mm, 91,000 99.800
600 SSACSD10MWE zRgégr/zgle?;:’oé dead—end path MW-valve, 1/16%.75mm, 21,000 97.400
600 SSACSD12MWE zRg(i):gr/‘s‘gngiZgn;:’oE dead—end path MW-valve, 1/16%.75mm, 21,000 21,600
600 SSACSD16MWE ?ggg;z(e)glpl?gn;goé dead—end path MW-valve, 1/16*.75mm, 21,000 21,600
600 SSACSDEMWE ?ggg;zgglpiirgz:’sEdead—end path MW-valve, 1/16%.75mm, 21,000 21,600
600 SSASC10MWE ZRS;%;ZEELL?;:’OE common outlet MW valve, 1/8*%1mm, 21,000 29.800
600 SSASC12MWE ZRgSgr/;ggl 1SI2 220; common outlet MW valve, 1/8%1mm, 91.000 99.800
600 SSASC16MWE zRg(’;Cér/ZE?)Ipl?grzgoE common outlet MW valve, 1/8*%1mm, 93,000 29.800
600 SSASC6MWE ZRgSgr/;ggl ZingsEcommon outlet MW valve, 1/8%1mm, 91,000 99.800
600 SSASD10MWE ZRS;%;ZEELL?;:’OE dead—-end path MW-valve, 1/8%1mm, 21,000 97.400
600 SSASD12MWE ZRgSgr/;ggl 1SI2 220; dead-end path MW-valve, 1/8%1mm, 91,000 97.400
600 SSASD16MWE zRg(’;Cér/ZE?)Ipl?grzgoE dead—-end path MW-valve, 1/8%1mm, 21,000 97.400
600 SSASDEMWE ZRgSgr/zggl fsiim;);)sEdead—end path MW-valve, 1/8%1mm, 91,000 97.400
601  |A2CSF10MWE ;go"c‘;‘}‘;%;:g;h;;gg/gw’ alf 0t/2”50, 1/16%1 mm, 238,300 341,000
601  |A2CSF12MWE 2000 200en, g e act/2"so, 1/1641mm, 275000 283,000

13/16



Chll )

2021%1H27H

BUBEHNEINT 20175 BB RAE. ARWEHSEEZB/EALTEYET, A EEO—TILO—
RIBFHMITOESELTEIEBLELELEL, 8520-42-02B%
wdida o LN (B

20175 (REES REE
BHE~R—> BT #ffiAg
601  |A2CSF16MWE ;goné’}‘;%;':;”_gih;°§gg'/gw' air act/2"so, 1/161mm, 275000 283,000
601  |A2CST1OMWE ;goné%%(;;?z:: path. el a0t/2"s0. 1/16+.75mm, 238,300| 341,000
601  |A2CSTI2MWE o pobos wrabping pach, M. alract/ 2"s0. 1716+ 75mm, 253000 360,000
601  |A2CST16MWE lgo"é‘}ZZSLZ‘.’Z'Qf path. el a0t/2"s0. 1/16+.75mm, 253000| 360,000
601  |A2SF1OMWE Soges hou-throush, Ml airact/ 2’50 1/841mm, 238300 341,000
601 |A2SF12MWE ;ggé"}‘;%gf:;fﬁgggw alf act/2"s0, 1/6+1mm, 253000| 360,000
601  |A2SF16MWE Sogos hou-throush, Ml airact/ 2’50 1/841mm, 253000 360,000
601 |A2ST1OMWE ;go"c‘)‘}‘;f)gg"’g';‘f path. el act/2” 50, 1/B¥1mm, 238,300| 341,000
601 |A2ST12MWE 12 moos rapoing path, MW, air act/2-so. 1/B¢Imm. 253000 360,000
601 |A2ST16MWE ;goné%%(;::)z:: path. el act/2” 50, 1/B¥1mm, 253000| 360,000
601 DGSE12MWE ;goné;;(;%g:::/;gto’:gg/:\zﬂw replacement, 1/16%1mm, 178,000 999.000
601 DCSF6MWE gonagc;szgg)[ﬁ?t;ar:usgbygv, replacement, 1/16%1mm, 146,000 191.000
601 DCST10MWE ;goné;;(;%(;:;as;l)r;;]sg r’J\laécg,/E/IW, replacement, 1/16%.75mm, 163.000 910,000
601 DCST12MWE ;goné;:}z%(‘;:;?pgi;sg’ :,)\laécg,/lgllw, replacement, 1/16%.75mm, 178.000 929.000
601 DCST16MWE ;gonés;?)g;as?rgzsg r’J\laécg,/E/IW, replacement, 1/16%.75mm, 178.000 999,000
601 DCSTEMWE gonagc;szégiz?igags?a,\;cgéylzw, replacement, 1/16%.75mm, 146,000 191,000
601 DSF10MWE ;goné;;(;%g:::/;gto’:gg/:\zﬂw replacement, 1/8%1mm, 163.000 910,000
601 DSFE12MWE ;Sonéc;zzgfgjg’;zio;gg,/:\zﬂw, replacement, 1/8%1mm, 178.000 929.000
601 DSF16MWE ;goné;;(;%g:::/;gto’:gg/:\zﬂw replacement, 1/8%1mm, 178.000 999,000
601 DSE6MWE gonagc;szgg)[ﬁ?t;ar:usgbygv, replacement, 1/8%1mm, 146,000 191.000
601 DST10MWE ;goné;;(;%(;:;as;l)r;;]sg r’J\laécg,/E/IW, replacement, 1/8%1mm, 163.000 910,000
601 DST12MWE ;goné;:}z%(‘;:;?pgi;sg’ :,)\laécg,/lgllw, replacement, 1/8%1mm, 178.000 929.000
601 DST16MWE ;gonés;?)g;as?rgzsg r’J\laécg,/E/IW, replacement, 1/8%1mm, 178,000 999.000
601 DSTEMWE gonagc;szégiz?igags?a,\;cgéylzw, replacement, 1/8%1mm, 146,000 191,000
0 [suocoste [Samelos om. meas STAM P-tesshe IS eds | o]y

14 /16



Chll )

BHREHI0720175BHEAE. KARMWEHAZBEALTEYES,

RIBEFH B OEFFELTEBRBNLEDHELLEL,

2021%1H27H

HASHERS—TIILI—

£520-42-02B&

GLC# S 72/ (Bt
ns07 e IR
20175 (HRES) -

/ER—o w17 eIk
o0 [socre  [Smels iond m SN Eums e 8ok [ 1] 1aa0g
601 SL250STP \,Svic?r::jt:)zpfzfgﬁlsr’ng?gsSST/MW P-type valve, 1/8” ends 5.800 7.200
T e T
601 SL500STP \,Svic?r::jt:)zpfzegﬁlsr’ng?gsSST/MW P-type valve, 1/8” ends 6.300 7.700
T e i
e T R
601 SSACSF10MWE ZRg(i):gr/;ggl 1SIO 220; flow—through MW-valve, 1/16%1mm, 93.000 97.400
601 SSAGSF12MWE QRS;%;ZE?)L;Z;:’OE flow—through MW-valve, 1/16%1mm, 93,000 97.400
601 SSACSF16MWE ?ggg;zgng?gn;go; flow—through MW-valve, 1/16%1mm, 93,000 23.700
601 SSACSF6MWE zRg(’;%r/ZEZLSin;g;)’sEﬂow—through MW-valve, 1/16%1mm, 93.000 97.400
601 SSACST10MWE ZRg(i):gr/;ggl 1SIO 220; trapping path MW-valve, 1/16%.75mm, 93.000 99.800
601 SSACST12MWE ZRS;%;ZEELL?;:’OE trapping path MW-valve, 1/16%.75mm, 93,000 29.800
601 SSACST16MWE ZRg(i):gr/;ggl 1SI6 220; trapping path MW-valve, 1/16%.75mm, 93.000 99.800
601 SSACSTEMWE zRg(’;%r/ZE?)inn;g;)’sEtrapping path MW-valve, 1/16%.75mm, 21,000 29.800
601 SSASE1OMWE ZRg(i):gr/;ggl 1SIO 220; flow—through MW-valve, 1/8%1mm, 93.000 99.800
601 SSASF12MWE QRS;%;ZE?)L;Z;:’OE flow—through MW-valve, 1/8%1mm, 93,000 29.800
601 SSASE16MWE ZRg(i):gr/;ggl 1SI6 220; flow—through MW-valve, 1/8%1mm, 93.000 99.800
601 SSASFEMWE zRg(’;%r/ZEZLSin;g;)’sEﬂow—through MW-valve, 1/8%1mm, 21.000 99.800
601 SSAST10MWE ZRg(i):gr/;ggl 1SIO 220; trapping path MW-valve, 1/8%1mm, 93.000 99.800
601 SSAST12MWE ZRS;%;ZEELL?;:’OE trapping path MW-valve, 1/8%1mm, 93,000 29.800
601 SSAST16MWE ZRg(i):gr/;ggl 1SI6 220; trapping path MW-valve, 1/8%1mm, 93.000 99.800
601 SSAST6MWE zRg(’;%r/ZE?)inn;g;)’sEtrapping path MW-valve, 1/8%1mm, 21,000 29.800
602 ZU.5 Union 1/32”, .25mm bore, SS 6.800 7,600
602 ZU1T Union 1/16”, 1/16” through bore, SS 4,800 5,100
602 ZU2L Union 1/8”, 2mm bore, 316SS 6,600 7,300

15/ 16



(BIHR)
BMUREHIOJ 201758 HARE, KRWEEREBELTRYET,
RIBEFH B OEFFELTEBRBNLEDHELLEL,

202118278
HrASHEEZS—TILL—
§520-42-02B&

GLOAS S L NFATS (BiR)
hansg P/N oz
20175 (WRE =
BEA~R— BT Frim
602 ZUz2T Union 1/8”, 1/8” through bore, SS 7,900 9,300
602 ZU2 Union 1/8”, .75mm bore, 316SS 5,300 5,900
603 FS.25-5 Fused silica adaptor 1/32", for tubing .25mm OD, Valcon T, 15.000 16.100
5/pkg
603 FS4-5 Fused silica adaptor 1/32", for tubing .4mm OD, Valcon T, 6,800 7.300
5/pkg
603 FS1.25-5 Fused silica adaptor 1/16”, for tubing .25mm OD, Valcon T, 12.900 15,500
5/pkg
603 FS1.2-5 Fused silica adaptor 1/16", for tubing .2mm OD, Valcon T, 15.000 16.100
5/pkg
603 FS1.4-5 Fused silica adaptor 1/16”, for tubing .4mm OD, Valcon T, 6,800 7.300
5/pkg
603 FS1L5-5 Llnel" fgsed silica adaptor 1/16”, for tubing .5mm OD, 13.000 21,600
— Polyimide, Valcon, 5/pkg
603 FSTR5-5 Fuse.d §|I|ca adaptor 1/16”, removable, for tubing .5mm OD, 36,700 40,800
Polyimide, Valcon, 5/pkg
604 2S0A Standoff assembly 2”, for 2 pos actuator 1,800 17,900
604 CR10 Clamg ring for standoff assembly, *SOAMMP_m—pos m— 3.200 4.300
- electric actuator
605 CMH12H Close mount hardware, 2—pos. valve, m—electric actuator 4,400 6,000
605 CMH13H Close.mount hardware, m—pos. valve, Cheminert h/p, m— 4.400 6.000
- electric actuator
605 CMHMP Close mpunt hardware, 2-pos/m—pos valve, no mounting 4,500 6.000
— holes, air or elec. actuator

XEMBBEZERF - THRTRLTLET,

16 /16




